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Import numpy as np
import matplotlib.pyplot as plt
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plt.plot(x, y)
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X = np.linspace(-np.pi, 2*np.pi, 100)
Yy = np.cos(x)
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X_data, y_data = np.loadtxt("sample.data", unpack=True)
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x0_data, y0_data = np.loadtxt("cnm_etime-size.data", unpack=True)
plt.plot(x0_data, y0_data)
x1 data, yl_data = np.loadtxt("hel_etime-size.data", unpack=True)
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plt.plot(x2_data, y2_data)
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plt.plot(x3_data, y3_data) \
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x0_data, y0_data = np.loadtxt("./cnm_etime-size.data", unpack=True)
plt.plot(x0_data, y0_data, label="CNM")

x1_data, yl_data = np.loadtxt("./hel_etime-size.data", unpack=True)
plt.plot(x1_data, yl1_data, label="HE")

X2_data, y2_data = np.loadtxt("./hn_etime-size.data", unpack=True)

plt.plot(x2_data, y2_data, label="HN")
plt.legend() bar > scatter £EUTY,
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« FSTVNZAARILESTITS: plt.title("Graph Title")

» U357 T—REIFAIVIZRET S plt.savefig("AAA.bbb")
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Import numpy as np
import matplotlib.pyplot as plt

# 87— I74IVDNR&ICER

x0_data, yO_data = np.loadtxt("themel/data/cnm/etime-size.data"”, unpack=True)
plt.plot(x0_data, y0_data, label="CNM")

x1 data, yl_data = np.loadtxt("themel/data/hel/etime-size.data", unpack=True)
plt.plot(x1_data, y1_data, label="HE")

Xx2_data, y2_data = np.loadtxt("themel/data/he2/etime-size.data", unpack=True)
plt.plot(x2_data, y2_data, label="HE"")

x3_data, y3_data = np.loadtxt("themel/data/hn/etime-size.data", unpack=True)
plt.plot(x3_data, y3_data, label="HN")

plt.legend()
plt.xlabel("Size of Social Network")
plt.ylabel("Elapsed Time [sec]")

# BATPAINDINAAISER
plt.savefig("themel/images/fig5-etime.pdf")
plt.show()
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Import numpy as np
import matplotlib.pyplot as plt

plt.xlabel("#Joins")
plt.ylabel("Consolidation Ratio (#edges)")

# 87— IPAINONRGITER
x0_data, y0_data = np.loadtxt("themel/data/cnm/ratio-join.data", unpack=True)
plt.scatter(x0_data, yO_data, s=0.01)

plt.legend()

# B IT7AINDINAAISER
plt.savefig("themel/images/fig3-cnm-ratio-join.pdf")
plt.show()
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import numpy as np

import matplotlib.pyplot as plt 2 @057(3:\ %7?757((1@(*%957(3_0

Matplotlib T SJ%1ER I DBE(E. plt.bar() TY,
plt.xlabel("#Joins") $2JS5TAO plt.plot() EEFRUTIN, HHSIDBELER
pit-ylabel("Time [sec]") BEOIEZ “width” TIEEIDINENDDNET,

# BT I7AIDNRAZISER
X0_data, y0_data = np.loadtxt("themel/data/cnm/time-join-g00K.data", unpack=True)
plt.bar(x0_data, y0O_data, label="#Nodes = 500K", width=10000)

# TOEBN R “width” BHIMEZIEELRWMGSE. B STNRRENFE Ao
EARBEMEUING, T—YDEEE RNETHIFTTEEIH.
pit.legend() &9 (REHRME TR THDEVIFHITERERE . TOBDDEE A

# iE ;EL_ / )\
# AT ILD) R (LS e, B I0DGE . fERX I BIBEHICEHERNMNETI (BN3B).

plt.savefig("themel/images/fig2-cnm-joins-time-series.pdf")
plt.show()
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